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CID 10764
	Page.

Line
	Clause Number
	Comment
	Proposed Change
	Resolution

	868.05
	Annex Z
	[]-242-484 MRU 1 appears in the lower 80 MHz and 484-242-[] MRU 8 appears in the upper 80 MHz, even though the RU Allocation value is the same for either 80 MHz frequency subblock.  Having these two MRUs in the same table is confusing.
	Add a note to point out that the i_80FS issue (defined in P655L15) may affect the MRU index (with the same RU Allocation value specified in the content channels) below the table or list both lower and upper 80 MHz frequency subband separately.  When the latter is adopted, need to care about the correct MRU index in each i_80FS.  Only the index from the corresponding i_80FS is used.
	Revised
484-242-[] only aims to show the MRU type. The exact location is clear with the MRU index.

Whilst it is worthwile to clarify [].

Instructions to the editor:
Please make the changes as shown in 11/22-1360r0, under CID 10764


Instructions to the editor, please make the following changes to P868, L37 of P802.11be D2.1.1:
Table Z-9—Resource allocation signaling example 1(#10762)
	RU or MRU
	484+242-tone MRU 2

(242-[gap 242]-484)
	242-tone RU 2

	SS0
	STA-ID 1441, EHT-MCS 10, LDPC,

no Tx beamforming
	STA-ID 1442, EHT-MCS 4, BCC,

2SS, Tx beamforming

	SS1
	N/A
	


Table Z-10—Resource Allocation subfield illustration example 1

	
	RU Allocation subfield illustration

	Content channel 1
	242-[gap 242]-484, MRU 2 (1 User field)
	484 (0 User field)

	Content channel 2
	242 (1 User field)
	484 (0 User field)


Table Z-13—Resource allocation signaling example 2(#10762)
	RU or MRU
	484+242-tone MRU 2

(242-[gap 242]-484)
	242-tone RU 2

	SS0
	STA-ID 1441, EHT-MCS 10, LDPC, 2SS
	STA-ID 1442, EHT-MCS 4, BCC,

2SS, Tx beamforming

	SS1
	
	

	SS2
	STA-ID 1443, EHT-MCS 7, LDPC
	N/A

	SS3
	STA-ID 1445, EHT-MCS 5, LDPC
	


Table Z-14—Resource Allocation subfield illustration example 2

	
	RU Allocation subfield illustration

	Content channel 1
	242-[gap 242]-484, MRU 2 (2 User fields)
	484 (0 User field)

	Content channel 2
	242 (1 User field)
	242-[gap 242]-484, MRU 2 (1 User field)


Table Z-17—Resource allocation signaling example 3

	RU or MRU
	996+484-tone MRU 2

(484-[gap 484]-996)
	484-tone RU 2

	SS0
	STA-ID 1441, EHT-MCS 10, LDPC,

no Tx beamforming
	STA-ID 1442, EHT-MCS 4, LDPC, 2SS, Tx beam-

forming

	SS1
	N/A
	


Table Z-18—Resource Allocation subfield illustration for the lower 80 MHz example 3

	
	RU Allocation subfield illustration

	Content channel 1
	484-[gap 484]-996, MRU 2

(1 User field)
	484 (0 User field)
	996 (0 User field)
	996 (0 User field)

	Content channel 2
	484 (0 User field)
	484 (1 User field)
	996 (0 User field)
	996 (0 User field)


Table Z-23—Resource allocation signaling example 4

	RU or MRU
	242-tone RU 1
	484+242-tone MRU 1

([gap 242]-242-484)
	484+242-tone MRU 7

(484-[gap 242]-242)
	242-tone RU 7

	SS0
	STA-ID 1441,

EHT-MCS 8, BCC
	STA-ID 1445,

EHT-MCS 10, LDPC, 2SS
	STA-ID 1447,

EHT-MCS 4, LDPC, 2SS, Tx

beamforming
	STA-ID 1448,

EHT-MCS 7, LDPC

	SS1
	STA-ID 1442,

EHT-MCS 7, BCC
	
	
	STA-ID 1449,

EHT-MCS 6, LDPC

	SS2
	STA-ID 1443,

EHT-MCS 6, BCC
	STA-ID 1446,

EHT-MCS 4, LDPC, 2SS
	N/A
	STA-ID 1450,

EHT-MCS 5, LDPC

	SS3
	STA-ID 1444,

EHT-MCS 5, BCC
	
	
	STA-ID 1451,

EHT-MCS 5, LDPC


Table Z-24—Resource Allocation subfield illustration for the lower 80 MHz example 4

	
	RU Allocation subfield illustration

	Content channel 1
	242 (4 User fields)
	484 (0 User field)
	484 (0 User field)
	242 (0 User field)

	Content channel 2
	[gap 242]-242-484, MRU 1

(2 User fields)
	484 (0 User field)
	484 (0 User field)
	242 (0 User field)


Table Z-25—Resource Allocation subfield illustration for the upper 80 MHz example 4

	
	RU Allocation subfield illustration

	Content channel 1
	242 (0 User field)
	484 (0 User field)
	484 (0 User field)
	242 (4 User fields)

	Content channel 2
	242 (0 User field)
	484 (0 User field)
	484-[gap 242]-242, MRU 7

(1 User field)
	242 (0 User field)


Table Z-29—Resource allocation signaling example 5(#10762)
	RU or MRU
	484+242-tone MRU 2

(242-[gap 242]-484)

	SS0
	STA-ID 1441, EHT-MCS 10, LDPC, 2SS

	SS1
	

	SS2
	STA-ID 1443, EHT-MCS 7, LDPC

	SS3
	STA-ID 1445, EHT-MCS 5, LDPC


Table Z-32—Resource allocation signaling example 6(#10762)
	RU or MRU
	484+242-tone MRU 2

(242-[gap 242]-484)

	SS0
	STA-ID 1441, EHT-MCS 10, LDPC,

2SS, Tx beamforming

	SS1
	


Table Z-35—Resource allocation signaling example 7(#10762)
	RU or MRU
	2996-tone RU 1
	242-tone RU 9
	242-tone RU 10
	996+484-tone MRU 5

([gap 484]-484-996)


	SS0
	STA-ID 1441,

EHT-MCS 10, LDPC
	Unassigned
	Unassigned
	STA-ID 1443,

EHT-MCS 7, LDPC

	SS1
	STA-ID 1442,

EHT-MCS 4, LDPC
	
	
	STA-ID 1444,

EHT-MCS 8, LDPC


Table Z-36—RU Allocation subfield illustration for each 80 MHz frequency subblock example 7(#11698)
	RU Allocation subfield illustration

	Content channel 1
	2996

(2 User fields)
	996

(0 User field)
	996

(0 User field)
	996

(0 User field)
	Unas- signed 242
	484

(0 User field)
	996

(0 User field)
	996

(0 User field)

	Content channel 2
	996

(0 User field)
	996

(0 User field)
	996

(0 User field)
	996

(0 User field)
	Unas- signed 242
	[gap 484]-484-

996

MRU 5

(2 User fields)
	996

(0 User field)
	996

(0 User field)


Table Z-39—Resource allocation signaling example 8

	RU or MRU
	242-tone RU 1
	484+242-tone MRU 1

([gap 242]-242-484)
	484+242-tone MRU 8

(484-242-[gap 242])
	106-tone RU 15
	106+26-tone MRU 16

	SS1
	Punctured
	STA-ID 1441,

EHT-MCS 10, LDPC, 2SS
	STA-ID 1443,

EHT-MCS 8, LDPC, 2SS,

Tx beamforming
	STA-ID 1444,

EHT-MCS 4, BCC,

Tx beamforming
	STA-ID 1445,

EHT-MCS 7, BCC,

Tx beamforming

	SS2
	
	
	
	N/A

	SS3
	
	STA-ID 1442,

EHT-MCS 4, LDPC, 2SS
	N/A
	

	SS4
	
	
	
	


Table Z-40—RU Allocation subfield illustration for each 80 MHz frequency subblock example 8(#11698)
	RU Allocation subfield illustration

	Content channel 1
	Punctured 242
	484

(0 User field)
	484-242-[gap 242],

MRU 8

(1 User field)
	242

(0 User field)

	Content channel 2
	[gap 242]-242-484,

MRU 1

(2 User fields)
	484

(0 User field)
	484

(0 User field)
	106 +

(106+26) RU 15

+ MRU 16

(2 User fields)


CID 10765
	Page.

Line
	Clause Number
	Comment
	Proposed Change
	Resolution

	868.22
	Annex Z
	"In this example, STAs 1441-1445 are operating on the primary 80 MHz channel, which is the lower 80 MHz. The User field for STA 1443 is in content channel ..... No User fields exist in the upper 80 MHz." is not what Table Z-40 shows.
	Please clarify  and correct it if agreed.
	Revised

Agree with the commenter. Reflect the changes.
Instructions to the editor:
Please make the changes as shown in 11/22-1360r0, under CID 10765


Discussion
The transmission considered in Example 8 is 160 MHz OFDMA. It first says: “In this example, the EHT-SIG content channels per 80 MHz frequency subblock are set to the same values by the AP.” followed by “The User field for STA 1443 is in content channel 1 while the User fields for STAs 1441, 1442, 1444, and 1445 are in content channel 2 in the lower 80 MHz. No User fields exist in the upper 80 MHz.”
Since the EHT-SIG content channels per 80 MHz frequency subblock are duplicated, the User fields in the upper 80 MHz shall be the same as the lower 80 MHz.

Discussion ends.

Instructions to the editor, please make the following changes to P868, L37 of P802.11be D2.1.1:
In this example, STAs 1441–1445 are operating on the primary 80 MHz channel, which is the lower 80 MHz. The User field for STA 1443 is in content channel 1 while the User fields for STAs 1441, 1442, 1444, and 1445 are in content channel 2 in both the lower and upper 80 MHz frequency subblocks. The contents of the entire EHT-SIG field in each 80 MHz for this example is shown in Table Z-41 (EHT-SIG content in each 80 MHz frequency subblock for example 8(#11698)).
CID 11971
	Page.

Line
	Clause Number
	Comment
	Proposed Change
	Resolution

	852.20
	Z.6
	It is impossible to have LDPC extra symbol=1 with the configuration  given in the example
	In Table Z-8 in the 2nd coloum replace '1' with '0' and in the 3rd column replace "An LDPC extra symbol segment is present." with "An LDPC extra symbol segment is not present.". In addition, modify the content of Table Z-11 accordingly
	Revised
Agree with the commenter, reflect the changes.

Instructions to the editor:
Please make the changes as shown in 11/22-1360r0, under CID 11971


Instructions to the editor, please make the following changes to P868, L23 of P802.11be D2.1.1:
Table Z-8—U-SIG overflow example 1

	Subfield
	Indication
	Meaning

	Spatial Reuse
	1111
	PSR_AND_NON_SRG_OBSS_PD_PROHIBITED.

	GI+LTF Size
	11
	4 EHT-LTF and 3.2 µs GI.

	Number Of EHT-LTF Symbols
	001
	2 EHT-LTF symbols.

	LDPC Extra Symbol Segment
	0
	An LDPC extra symbol segment is not present.

	Pre-FEC Padding Factor
	01
	A pre-FEC padding factor of 1.

	PE Disambiguity
	0
	The condition in Equation (36-94) is not met.

	Disregard
	1111
	


Table Z-11—EHT-SIG content for example 1

	
	EHT-SIG content channel 1
	EHT-SIG content channel 2

	Common field

(U-SIG Overflow, RU Alloca- tion-1 subfield, CRC, Tail)
	1111 11 100 0 10 0 1111

000101100 101110000 1010 000000
	1111 11 100 0 10 0 1111

000000100 101110000 1010 000000

	User Specific field
	STA 1441
	10000101101

0101 1 0000 0 1
	STA 1442
	01000101101

0010 1 1000 1 0

	
	CRC and Tail
	1010 000000
	CRC and Tail
	0001 000000

	
	Padding
	000
	Padding
	000

	EHT-SIG field content in binary, organized as octets (LSB first)
	11111110 00100111 10001011

00101110 01010000 00000100

00101101 01011000 0010

00000000
	11111110 00100111 10000001

00101110 01010000 00000010

00101101 00101100 0100

00000000

	EHT-SIG field content in binary, organized as octets (MSB first within each octet)
	01111111 11100100 11010001

01110100 00001010 00100000

10110100 00011010 00101100

00000000
	01111111 11100100 10000001

01110100 00001010 01000000

10110100 00110100 01000010

00000000

	EHT-SIG field content in hexa- decimal, organized as octets
	7F E4  D1 74 0A  20 B4 1A 2C 00
	7F E4  81 74 0A 40 B4 34 42 00


Abstract


This submission contains proposed comment resolutions to comments on P802.11be D2.0. The changes are based on P802.11be D2.1.1.





3 comments are resolved.
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